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PART (B)
EMPLOYABILITY SKILLS
(TWO YEAR TRADE)
(MORNING SESSION)
SEMESTER II
MARKS: 50
1. Which one is Element of Quality-

(a) Performance (c) Design
(b) Durability (d) Appearance

2. The resources utilized for production are-
(a) Materials, Methods, Machines
(b) Machines, Manpower, Methods
(c) Methods, Machine, Manpower
(d) Materials, Machines, Manpower

3. Productivity is the of production system.

(a) Measurement (c) Both (a) and (b)
(b) Efficiency (d) None of these
4. Raw material productivity can be increased by-
(a) Proper choice of design (c) Scrap control
(b) Reuse of material (d) All of these
5. The elimination of which of the following will improve industrial productivity-
(a) Excess time (c) Both (2) and (b)
(b) Ineffective time (d) None of these
6. Which one is Dimension of quality-
(a) Conformance (c) Performance
(b) Product (d) None of these

7. Having more than 50% ownership position that provides the entrepreneur with managerial
control is called-

(a) Joint venture (c) Horizontal merger

(b) Majority interest (d) Diversified activity merger
8.  Information regarding all of the following is related to operations, EXCEPT;

(a) Location (c) Raw materials

(b) Promotion (d) Labour skills
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9.  GATT is established in 1947, under-
(a) German leadership (c) French leadership
(b) U.S. leadership (d) UK. leadership

10.  According to Factories Act, factories employing over women workers have to
provide for creches.
(@ 10 (c) 30
(b) 20 (d) 40
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(a) Disablement (c) Maternity expenses
(b) Funeral expenses (d) Sickness
12, Which one is Element of quality control-
(a) Labour (c) Time
(b) Customer Service (d) Safety
13. Which one is Function of Inspection Department-
(a) Tool Inspection (c) Both ‘a’ and ‘b’
(b) Raw Material Inspection (d) None of these

14. Which one is the Advantage of Centralised Inspection-
(a) Co-ordination between labour and Inspector
(b) Barrier in production
(c) Use of less equipments
(d) Both ‘a’ and ‘¢’

15. “DIC” stand for-
(a) Direct Investment Centre (c) District Industrial Centre
(b) Delhi Industrial Corporation (d) District Investment Corporation

16. “SFC” stands for-
(a) Special Financial Centre
(b) Small Industrial Financial Corporation
(c) Special Fund Centre
(d) State Financial Corporation

17.  District Industries Centres does promotion for industries.
(a) Small (c) National level
(b) District level (d) None of these

18. MSME stand for:
(a) Micro Small and Medium Enterprises
(b) Ministry of Small and Micro Enterprises
(c) Ministry of Small and Medium Enterprise
(d) None of the above
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19.  Which one is NOT the main aim of MSME;
(a) Providing high value loans for Small Industries
(b) Advising Government in policy formulation for promotion of MSMEs
(c) Providing managerial consultancy to MSMEs
(d) Providing technology up-gradation facilities
20. Which formula correctly describes productivity?
(a) (Output — Input)/Output (c) Output/Input
(b) (Input — Output) / Input (d) Input/Output
21. Which Bank was Nationalized b
(@) TeAndra Bank S, (C) Bank oI bBaroda
(b) Central Bank of India (d) Indian Overseas Bank
22. The first Cotton Mill was established : ,
(a) Near Calcutta (c) Near Gujarat
(b) Near Rajasthan (d) Near Andhra Pradesh
23.  Where the Employees State Insurance Corporation’s office is established.
(a) Mumbai (c) New Delhi
(b) Kolkata (d) Chennai
24.  What is the full form of TQM:
(a) Total Quality Management (¢) Trial Quality Major
(b) Total Quantity Management (d) None of these
25.  If inputs decrease while output remains constant, what will happen to productivity?
(a) It will increase (c) It will remain the same
(b) It will decrease (d) It is impossible to tell
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